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EARIL IR = 1 191, 695, 883
A = 1 58, 376, 902
-2 kEe) T = 1 6, 059, 406
RERE TA (BEE D) = 1 2, 367, 285
IRAREE TA (BB D) = 1 1, 132, 794
IRAREE TA (B ED) = 1 76, 176
STt =N Y 1 1, 237, 399
VEZEY-1 i T Y 1 21, 742
B EHT = 1 47, 482, 100
B E S Y 1 3, 559, 055
S0 RCR A =Y 1 3,559, 055 | 2 iEHR 18 m3
(B EER)
TAT7IV NS
i SLikiing 88 m3
(HEER)
TAT7IV NS
RISy 18 m3
(B EER)
TAT7IV NS
RISy 88 m3
(HEER)
TAT7IV NS
ELERR O W 790 m
TA7 7V MR EfEEE 15emlL T
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E A IR B M 460 m
TAT7VMERSERR &% 15em%& 8 2 30emPL T ;
A IR A 460 m2
TAT7VMEHEERR AH2EIE 15emPL T
A IR A 290 m2
TA77VMERSERR &H%EE 15em%& 8 % 35emPL T ;
BHHEI T Y 12, 753, 784
A T Y 5,612, 320
HELT = 5, 909, 250
AL T =Y 1,232,214
AR AL E T = 72,994, 309
BT (E ) = 34,500, 709 | MR I 2,179 m
fIIFEPE £% 100mm ;
TS A 550 m
FRIFEPE £2 75mm ;
HHER S 6 m
HIVPE E4 £ 100mm ;
TR 90 m
VP EE £ 250mm (X0 SU ¢ 50:85%) ;
TS A 105 m
VP EE £ 200mm (X0 SU ¢ 50:45%) ;
TS A 280 m
VP B4 £ 150mm ;
HHER S 6 m
VPAE HE4% (10R) £ 250mm (X R04ESU ¢ 50:85%
) s
TR 37 m
VPAE HE4% (10R) % 200mm (X R0ESU ¢ 50: 45
)
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VP i (10R) £¢ 150mm ;

SRR 765 m
PV B £ 75mm ;

R R 1,333 m
PV B £ 50mm ;

SR 342 m
PV #h4 (10R) £ 75mm ;

SRR 869 m
PV 4 (10R) £ 50mm ;

R 70 m
PV % (6R) £ 75mm ;

R 95 m
PV % (6R) £ 50mm ;

SRR 149 m
FSSPE ££ 100mm ;

R 43 m
FSSP& £ 75mm ;

SRR 128 m
FEPAE (##K) & 80mm ;

SRR 234 m
FEPAE (##K) & 50mm ;

BB ) ~

A 1 =®

FLFEE T 6 #
F4HIFEP-HIVP ($ 100/)) ;

FLFEE T 9 (#
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T (I ) 9 I
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VP - 28200 ;
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VPAE - £2250H - LA
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T (- pne) 2 i
VP& « £22508 « #&a

HET (e 2 fi#
VP& - £8200/8 - A ;

HET (e 3 fi#
VP& « £8200/8 « #&a5

PR FRRY-) 1, 140 m
300 X 2% ;

7" VRRANE 9 AT (R ERER) E2V 1 38,493,600 |7 VEAMNE v/7 1 1
(MW8)
FRiE IE 1.35m NE L 8m FHIFEA50-150
&7 vy/H=300mm ;

7 VERAME A 1 1
(ME7)
FRiE I 1.35m NE L 8m FHIFEA50-150
&7 vy/H=300mm ;

7 VERAME A 1 1
(DW5)
AXE NBE 1.2m W& 1 5m EZEAR50-150 B
7" myJH=255mm FEAE7" vy /H=305mm ;

7 VERAME A 1 1
(DW6)
AXE NBE 1.2m W& 1 5m EZEAR50-150 B
7" myJH=255mm FEAE7" vy /H=305mm ;

7 VERAME A 1 1
(DE5)
AXE NBE 1.2m W& 1 5m EZEAR50-150 B
7" myJH=255mm FEAE7" vy /H=305mm ;

7 VERAME A 1 1
(TW6)
FXE PE 1m PN 1.5m EIFEA50-150 &7
ny/H=300mm ;

7 VAR A 1 1l
(TW7)
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ny/H=300mm ;
7 VAR AN ) A 1 1
(TE10)
HE NE 1m NS 1.6m BIFEHE50-150 &7
ny/H=300mm ;
7 VERAME A 1 1l
(TE11)
HE NIE 1m NS 1.6m BIFEHE50-150 &7
ny/H=300mm ;
7 VR AN ) A 2 1
(BW7. 8)
FXE NIE 0.6m PN 0.415m RC-40 ;
7 VAR AN )4 2 1
(BE6.7)
iE PIE 0.6m PN 0.415m RC-40 ;
BhagE T =X 9,297, 210
By L =X 9,297,210 |15F53# 9 n
25 B 12 m
35 5 m
455 8 m
5B 3 m
675 B 15 m
(k=1L 13 m
85 h# 3 m
HEELT = 216, 093
P v T = 216, 093
MR B T = 11, 882, 498
[E T 2 11,882,498 |5 FEME ¢k 139 PN
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(EAE) 3.5m EX(L#E) 2.57Tm ;
V5 IEE 221 m3
15U ;
1By 221 m3
15IE
EEET 2 1 88, 560
T FTHERE T (&4 BT =X 1 88,560 |/|NElHERE 0.8 m3
(g 1R27)-})
0.8mPh 1. omPA T 18-8-40 (k) ;
BN = T 2 1 13, 563, 333
e+ T 2 1 212,233
7 VR AN = T 2 1 11,102,000 | 157 VErAME vJA 2.8 m
PR @ 6.4m PNE : 2m
L X 1 2,249,100 | #HRAR 10 #
TITHY PSR & 9. 6m SHRRITIAR 8.
Tm ;
Aray)) -} 4 m
18-8-40 (/& 47) JEME70cm 5 & 60cm ;
e =R 1 (50
1 5+ ByEE 1 =0
25+ B EE 1 T
35 HgEE 1 =0
45+ REEE 1 =0
EEEET = 1 6, 945, 824
TA7 7 M2 T = 1 3,691,583 | TEigM% (BE - BRIEER) 197 m2
FEITyYr77 RC-40 AV E 200mm ;
R (HEGE - BRI ) 197 m2
AR SRR RM-40 £ Y E 150mm ;
b R (HEE - BRI ) 197 m2

FAEASZENFR (30) - EYE 100mm ;
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g (I - BIF ) 197 m2
FAHRIEEAS (20) AH3EE 50mm 1. 4moRdi (1
J& 4 0 SEYA Y JE50mmEA )

W g (8 - B ) 197 m2
AR EASE Vv—oE 1A (20) 4fEEE 50m
m 1. 4mAKh (18 Y Y FEH: E Y JE50mmLLl )

g (I - BIF ) 197 m2
FAHRIEEAS (20) AH3EE 50mm 1. 4moRdi (1
JE 20 R B Y JEE50mmll )

TA7 7 M2 T = 1 227,079 | F/EKM (FEE - KT EH) 3 m2
BAEITyv4T/ RC-40 {1 EVE 125mm ;
R (HEE - BRI ) 13 m2
AR EE A RM-40 SEYME F VR 89mm
R (HEE - BRI ) 13 m2
HAASZELF (30) {LEY/E 100mm ;
g (I - BIF ) 13 m2

FAHRIEEAS (20) AH3EE 50mm 1. 4moRdi (1
J& 24 0 SER F Y JE50mmPL )
W g (8 - B ) 13 m2
AR EASE Vv—oE T (20) &fEEE 50m
m 1. 4mK (1B YH Y SE¥8H: B Y E50mmPl )

=8 (§E - ) 13 m2
HAMRIEAs (20) AH3EE 50mm 1. 4mRig (1
J& 24 0 SER: F Y JE50mmPLl )

TA7 7 M2 T = 1 744,692 | FEKAE (BE - KIEE) 6 m2
FEITyYr77 RC-40 AV /E 110mm ;
R (HEGE - BRI ) 43 m2
AR EE A RM-40 SEYE E VR Tlmm
b R (HEE - BRI ) 43 m2
HAASZEAEE (30) fEEVIE 100mm ;
SJE (B - IHEDD 43 m2
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FAHRIEEAS (20) AH3EE 50mm 1. 4moRdi (1
J& 24 0 SER: F Y JE50mmPL )
W g (8 - B ) 43 m2
AR EASE Vv—oE 1A (20) 4fEEE 50m
m 1. 4mK (U8 YH Y SE8H: B Y E50mmPl T)

=8 (§E - BEE) 43 m2
HAMRIEAs (20) AH3EE 50mm 1. 4mRdg (1
J& 24 0 SER: F Y JE50mmPL )

TA7 7 M2 T = 1 579, 462 | F/E KM (B3HE - WRIE ) 5 m2
BHAITyv4T/ RC-40 L EVIE 17mm ;
R (HEE - BRI ) 5 m2
AR A RM-40 £ Y E 150mm ;
R (HEE - BRI ) 38 m2
HAASZEEALEE (30) SEWM EVE 67mm ;
g (I - BIF ) 38 m2

FAHRIEEAS (20) AH3EE 50mm 1. 4moRdi (1
J& 24 0 SER: F Y JE50mmPLl )
W g (8 - B ) 38 m2
AR EEASE Vv—o8 T (20) &fEEE 50m
m 1. 4mK (1B YH Y SE¥8H: B Y E50mmPl )

=8 (§E - ) 38 m2
HAMRIEAs (20) AH3EE 50mm 1. 4mRig (1
J& 24 0 SER: F Y JE50mmPLl )

TAT TV T N 1 30,350 | FIEHHE (HE - BIHED) 4 n2
FEITyYr77 RC-40 A VW E 150mm ;
R (HEGE - BRI ) 4 m2
FADRT EE A RM-40 {1 Y 8 150mm ;
g (I - BIF ) 6 m2

RIFEAs (20) HHZEIE 40mm 1. 4mkis (1@
D S B D JE50mmEL )

TA7 7R L & 1 139, 680 | Tl i (HLE - B ED) 24 m2
)Ty RC-40 ¥ EVJE 116mm
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R (HEGE - BRI ) 24 m2
AR A RM-40 £ Y E 150mm ;

g (I - BIF ) 24 m2
BRIEAs (20) AH4EIE 40mm 1. 4mAlE (1824
D S B D JE50mmPL )

AT L = L 1,628,891 | TJHAls (AR #6) 423 m2
BAI7yv47/ RC-30 {1V JE 50mm ;

g REER) 423 m2
FABRIEEAs (13) 4352 30mm 1. 4mRdi (1
J& 4 0 S D JE50mmEL )

TA7 7 T 2V 1 4,087 | BB CRE D) 1 2
FEIT9Y%77 RC-30 AV /E 100mm ;

g (REE) 1 m2
FABRIEEAs (13) AH3EE 40mm 1. 4moRdi (1
J& 24 0 S Y JE50mmEL )

HEKHEY) T Y 1 60, 402

AR T = 1 8,682 |7 VF¢AMUTU{AITE 0.6 m
(PU3-B300-H300)

NS 2 e
(PC4-B300)
300 41.2%9.5X50 ;

s

ET BN 1 51,720 | ta=b (BIEE) 2 n
(P1-RC1-D350)
CANEE =Y R

GET = 1 896, 192

&AL X 1 896,192 | ARHLEEE T ny) 176 m
(IS BRAEEL ST ny))
CFE 180/240X 300 X 600 iR ;

BT T = 1 85, 922

ERARI I AT T = 1 26,252 | B —F vy 2 m
WAL Gr-C—4E 21mAls dhidimiEaE o .
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A 2 m
B Gr-C-2B 21mARh A ELE 35 ;
Bf5 1k AL =X 21,231 | E5¥% (KR BA 1A 9 m
M 1. 1m PRE 27)-MdSARH A
5 R A A L 2 38,439 | FLEER 0.8 m2
BAEITyvv7/40~0 FEIE 0.05m ;
VAR 0.3 m3
18-8-40 (B JF) ;
Tl e 1 X
— A
ki 0.003 t
SD345 D13 ;
I R A 1 X
6200 ;
SN = 37, 724
/NIRRT = 37,724 | FERRAE 1 e
B £860.5 Aykdh ;
TEERARAR 1 r5e
2. Om2ATH BB
HEAT B MR T = 75,928
EELT = 528
BERT = 15,880 | 5 54E 4 #
[E A2 E /M 40 X 100X 2 (BT X) EiRE 10
R
r=7" MBS T = 59,520 | /-7 ML 3 m
(155 #)
EP 82mm 2%k PEM=V) H%E
HEE L = 862, 147
B S T £y 17,781 | BAaEMIHEC (b = L) 2 m
Gr—C—4E ;
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B MRS (7 = v-w) 2 m
Gr—C-2B ;
5 AT CRE T - 574 B IR fhi 2 9 m
& 1. 1m av))- AR
RS L =X 1 25,699 | FEEA S 1
AR - RS (B0
SR (N 1
EERRAR S (B - ML - R - SRR S AR)
e LT it 1 301,768 |2/ - M L 13 m3
MRS BhkE T
av) ) - Mg B L 4 m3
ERApIEEY) FAE T ;
ERZE IR 29 m
TA77VMERZERR BHZERRUE 15emlA T
EhAE AR AR 8 m2
TA77VMERZERR BHZERRUE 15emlA T
AREABIEEL 4 m3
fxAE L 2 1 321,024 |AHGEIRT ny L 176 m
BRI
TR AL T = 1 195, 875 | #hiE 13 m3
vy )= hik (BEAR)
IR 4 m3
/) -hik Bk
e 0.3 m3
TAT 7V
By 13 m3
vy )= hik (BEAR)
By 4 m3
/) -hik Bk
By 0. 06 m3
(HRER)
TAT 7V
LGy 0.2 m3
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TAT7IV NS
[ERAE Xy = 1 191, 695, 883
HiE R 2 1 25, 533, 793
BISTIGE: = 1 5,329, 793
TERE 2 1 207, 693 | ERbE L 1 =
BB = 1 1,200,000 |#ZHavs)=}7" Ty  esfdhss 1 =
HeffrE sy = 1 66, 100 | 18 & fiti i FeAST —HEREY 1 =
AN e AvE HERERE 1 F2V
BGRESGESE (5 L) = 1 3, 856, 000
B (FEHL) = 1 20, 204, 000
T = 1 217, 229, 676
Bl gy 2 1 76, 904, 000
T =5l = 1 294, 133, 676
— R A 2 1 43, 366, 324
TS 2 1 337, 500, 000
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